
Soluzione	dell’enigma	#1:	scommetto	che	per	via	dei	loro	lavori	e	del	fatto	che	
giocassero	a	carte,	hai	dato	per	scontato	che	gli	abitanti	della	casa	fossero	tutti	
uomini,	giusto?	Sbagliato!	Ricorda,	metti	sempre	in	discussione	le	tue	ipotesi.	I	
poliziotti	arrestano	subito	il	pompiere	perché	è	l’unico	uomo	(e	quindi	l’unico	che	
può	chiamarsi	Giovanni):	le	altre	tre	sono	donne.	
	
Soluzione	dell’enigma	#2:	l’uomo	è	un	nano	e	non	è	in	grado	di	raggiungere	il	
pulsante	dell’ultimo	piano,	a	meno	che	fuori	non	piova	e	possa	così	premere	il	
bottone	del	suo	piano	con	l’ombrello.	
	
Soluzione	dell’enigma	#3:	la	famiglia	del	bambino	vive	al	pian	terreno.	
	
Soluzione	dell’enigma	#4:	il	chirurgo	è	la	mamma	del	ragazzo.	
	
Soluzione	dell’enigma	#5:	l’ultimo	uomo	porta	via	il	suo	uovo	con	la	confezione.	


